MOUNTING INSTRUCTIONS

For:

eCO

150mm Pull Out Bottle Holder

Contents:

¢ Parts Required and Mounting Instructions 2



—
Q
=)
(=)
-
L)
=
=
(=]
]
)
-
o
S
o
£
£
(=3
LN
|

Parts Required and Mounting Instructions

PCS.

12

PART DRAWING

\\|||\5/%!

NO

7 | M3 SOMUN/NUT

6 | M5x12 YHB
8| M5x7 YSB
9| ax1e sV
0l 4x25 SV

13

14

\

.
=)

< \

ﬂém\/

N

M5 Somun/Nut/4
MSx12 YHB/4

Mex10 YSB/4
o SV s

7/

U7

= /X

S vsE/A




MACHINERY - MATERIALS - COMPONENTS - ADHESIVES - FOILS - PANELS - DOORS

NEY Ltd (Head Office) NEY Ireland NEY Scotland
Stonebridge Trading Estate Unit 22 Blaris Ind Estate Block 2 Units 1-2-3
Sibree Road Altona Road Bandeath Ind Est
Coventry Lisburn Throsk, Stirling

CV3 4FD BT27 5QB FK7 7NP

024 7630 8100 028 92 673 000 01786 814 814

024 7630 8101 028 92 672 999 01786 814 812

B sales@ney.co.uk B ireland@ney.co.uk B scotland@ney.co.uk

Order online @ www.ney.co.uk or call us on 024 7630 8100



